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APPLIED CHEMISTRY

Foruifa v fi= wR) [3Aftrmeam 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Pz () FEm¥E e 8 997 8 el ale & I &
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) ¥R J7 % @} YT @) FHAR TF A §A 4 |
Solve all parts of a question consecutively together.
(iii) 5% ¥ 1 73 8 8 JRE] Fifrd |
Start each question on fresh page.
(iv) @ T 8 o 8 ) Rl 4 S srga & A 8

Only English version is valid in case of difference in both the languages.
1. () Fefefesdd#m 3 wusawa &R 7 > 1p, 25, 2p T 3f.

Which of the following orbitals are not possible ? — 1p, 2s, 2p & 3f.
(i) mad awh & gatfues faga Foft o 1 am fafee |

Write the name of elements having highest electro-negative value in periodic table.
(ifi) ST Y W B I H AT F TH Frh A |

Write one factors which influence degree of ionisation.
(iv) Tl &) erq % T ferfta < s i &1t & |

Name any two metals, which do not undergo corrosion.
(v) ‘oore e aed dend e gwgg o ¢

Which gas was liberated in ‘Bhopal Gas Tragedy’ ?
(vi) weifee = Tamatie g ferfe |

Write the chemical formula of Permutite.
(vii) aTa-tg 1 Heed fafey |

Write the composition of Bio-gas.
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(viii) Hie F Hew % w9 # ITERT AT I FTer TE wanse |

Name the substance used as a retarder in cement.

(ix) S 3G Sigh e FATI |

(x)

(i)

(iii)

@iv)

)

(vi)

(i)

(iii)

Name any two solid lubricants.
farelt fr| 1 shTfven A9 991 R 7 FHGT M foTET |

What is the critical temperature of a gas ? Write its significance. (1x10)

3d HS F oY I Bied TETd feaRaw |

Write the quantum numbers of electrons for 3d orbital.
safdar /T } 7 nyfae ed fram fafe |

What is periodicity ? State modern periodic law.

SN Bt uiTTE HIRTT | AT TEHIES (C,H;OH) 3 U i 7071 g |

Define molecular mass. Calculate the molecular mass of ethyl alcohol.
(C,H;OH)

afy Reelt fyeraa $ pH=3 & @ I [H*] 719 91 9 [OH) RA Figm i
AT <A |

If a solution is having pH=3, calculate its [H*] and [OH"] ions concentration.
TwETeu 6 41 72 9 sioe H FE 91 H1 81 w1 Srerfiehdr & St @ 7

Explain why, the nut and bolt of the same metal are preferred.

Tifirhra fargue i wamafae frn fafee |

Write chemical reaction of nuclear fission. (2x6)

Ty 3 e e o e i f |

Write the main postulates of Bohr model of atom.

FHaTS g F R 7 (n + 1) T g

What is Aufbau principle ? Explain (n + ) rule.

S Forvi ) afofya T | e 38 TR O AT i & SR AHETST |

Define ionisation potential. Explain any two factors affecting it. (4x3)
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muﬁﬂtﬂﬁamaﬁqmaﬁm,ﬁmﬁmw.ﬁwﬁm
ferafafy awemsT |

Define Buffer solution. Explain Buffer action of any one Buffer solution.

I 4.0 gm NaOH ! 100 cm? Rrerer & firer R wman &, & 78 farerm i Aea
T Frfeta 7o AT |

If 4.0 g of NaOH is dissolved in 100 cm? of solution, calculate molarity and
normality of this solution. (6x2)

foreamaa 9 ol # ot faf |

Write differences between calcination and roasting.

A9gE I AT e § R fafe |

Write differences between thermoplastic & thermosetting plastic.

TR e % g &1 3y faf it s ol A |

Describe Ion exchange method of softening of hard water. (4x3)

AT ST 36 T & T T 7 7 Frafra w0 & el Q) w1 o R |

What are the causes and effects of air pollution ? Describe any two methods used
to control it.

o % i T ) o iR | 78 T s A R ? e <1 VAT 89
pedtiicdl :

Define calorific value of fuel. How many types of calorific values are ? Give
formula to calculate each. (6x2)

CRF R 7 T AD S & Ffiremeirs o R |
What is lubricant ? Write the characteristic features of a good lubricant.

wmmﬁmﬁmmmwwﬁ:mﬁwﬁﬁwmmw
mmém#ﬂﬁmt,m%mmgﬁm%é«mm%? ;

Explain dry corrosion by chemical reactions and explain why aluminium metal is
not corroded by dry air where as alkali metals corrode fast ? (6x2)
P.T.O.
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g () ot Qo feoroft feafere -
Write short note on the following (any two) : (3x2)
(a) rfereers werd
Super conductor
(b) HTE T HH
Soap & detergent
(c) S THR
Varieties of glass
(i) FreAfefEa % IUPAC Tm fafe :
Write IUPAC names of the following : (2x3)
HoC=
(a) g OH

Il
0]

=e

CH,
© Hﬂ-#—c%
CH,




